Name: Chem 11 Block March 6, 2017

Stoichiometry Relay Questions

1. What mass of nickel wire reacts with all the silver nitrate in 1.25 L of a 0.15 M solution?
Include the balanced chemical equation. N = wid
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2. What mass of HCI must be contained in a solution added to an excess of zinc arsenide to
Obtain 17.5L of arsine (AsH3) gas at STP? Include the balanced chemical equation.
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3. Identify the products and balance the chemical equation. Determine how many grams of
water will be produced if 2.0g of C4Hjg react?

Z.C4Hyo + 150, - _ELCDZ % _U.Z\"\ZO

2.()/\ < mel (MHW \uVMHzU g.02 X«%—\//J\
A : =|3. H. 0
4 C\W () 5‘5 “ 3 2 WLU\ U‘!HW h”’—%-' %d’ :

ARV e —

Miss Chatrath



Name: Chem 11 Block March 6, 2017

4. If 0.68g of Clareact with 25mL of KOH, what was the original concentration of the
KOH? M'.‘ ,Wlﬁ_‘,
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5. This unbalanced equation shows one possible set of products for the reaction of
aluminum and nitric acid:
ZAl(s) + ;éHNoa(ClQ) - ZAI(NO3);3(aq) + 3 H,
Use the balanced version of this equation to determine the mass of nitric acid required to
form 145 kg of hydrogen gas.
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6. If 16.8L of HaS gas are produced at STP, how many grams of Al (OH); are also
produced?
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